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Q. A spherical condnstor witl a vadins /7y carvies o charge Gow ke o secaned sphoevical conduetor with a
radins 2 is newtral. The twa conduetors are Tater conmected by acondueting wire os shown. Find the final

toral charge on cach sphere.
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Q. Recall that the electric potential at o distance = ot an ver Jonz straizlt wive (Fig. a) with a line
charge density A is
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where rg is the reference distance. Find the electrie potential st distance r frone a very lone, exlindrical

conductor (Fig. b) with a radivs B and a surface charge density 2. Use VO as reforenee (that s, V(R) = 0).
Express vour answer separately for o< £ and o= Vo teris of o [7 aned =ome constants,
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% Outside the cylinder (B22), the cylindes has a peteatial
ideatical 4o Athat ol o wire.
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Q. The Rgure shows two ares o a cirele with radine /7 on which chages 0 and -0 have heen spreacd
uniformly.

(a) What is the value of the eleetric potential at the center ol he cirele?
(b) Show the direction of the eleetrie field at the center with an arow on the igie.
(c) Draw the equipotential line that passes throngh the center.
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Q. The figure shows an arrangement of two - L5 nC charges. cach separated by 5.0 mm fram a proton. If the
two negative charges are held fixed at their locations and the proton is given an initial velocity ¢ as shown
in the figure, what is the minimum initial speed ¢ that the proton needs 1o totally eseape from the negative
charges?
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- A long. insulating exlinder carvies ¢ positive volime charge densive g0 From Geuss's law, we fined that
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the electric field inside the cvlinder is vacially ontward with magnitnde
o
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where 7 is the distance from the evlinder's axis. Fined (e electvie potential at e (o = 7Y velative to the

cylinder’s surface (that is. L°(/2) = 0).
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